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Unit 25 Further equations

1.	Solve the following equations:
[bookmark: _Hlk531185866]a)	x + 6 = 11	= 5	b) 	x − 9 = 15 	x = 24
c)	5x = 20 	x = 4	d)	  = 8 	x = 48
2.	Solve the following equations:
a)	3x + 5 = 11	x = 2	b) 	2x − 4 = 14	x = 9
c)	15 − 5x = 20	x = −1	d) 	10 − 6x = 4	x = 1
e)	  + 3 = 1	x = −4	f) 	  = 6	x = 8
3.	Solve the following equations:
a)	3(x + 2) = 12	x = 2	b)	2(2x – 4) = 8	x = 4
c)	2(1 − 3x) = 14	x = −2	d) 	15 = 5(2 − 3x)	x = − 
[image: ]e)	4( + 5) = 2	x = −3
[image: ]f)	4 ( + 2) = 6	x = −1
4.	Solve the following equations:
a)	4x + 3 = 9 + x	x = 2	b) 	x – 4 = 8 – x	x = 6
c)	6 − 2x = 11 + 3x	x = −1	d) 	10 + 3x = 2 − x	x = − 2
[bookmark: _GoBack]e)	5(3 + 2x) = 1 − 4x	x = −1	f) 	 =  2(1 – 3x) 	x = 
5.	Which number am I thinking of in the following situations? 
Set up an equation and then solve the equation to find the missing number.  
I think of a number and…	
a)	…double it and then add 7. The result is 11	2x + 7 = 11	x = 2
b)	….add 4 to it, then multiply the new answer by 6. The result is 30	6(x + 4) = 30    x = 1
c)	…divide the number by 5 and then subtract 11. The result is 3	 – 11 = 3	x = 70



6.	From the following diagrams:
a) 	Find x
[image: ]
[image: ]
3x + 20 = 2x + 55
x = 35
b) 	Find y

[image: ]	[image: ]

3y +19 = 2y +24
y = 5

[image: ]7. 	For each shape below:
i)	Write an equation involving 
[image: ]ii)	Solve your equation to find the value of 
[bookmark: _Hlk531187934]a)	The perimeter of the triangle is 26 cm.
	x – 5 + 2 x – 3 + 3x – 2 = 26
6x – 10 = 26
x = 6 cm	


[image: ]b)	The permeter of the rectangle is 20 m. 
	2(2x + 2 x + 2) = 20
4x + 2 = 10
x = 2 m
		
 

[image: ][image: ]8.	For each shape below:
i)	Write an equation involving 
ii)	Solve your equation to find the value of 
	All angles below are measured in degrees.
a)	100 + 5x + 3x = 180
100 + 8x = 180
8x = 80
x = 10°
[image: ]
b)	x + 6x – 10 + 3x – 20 + 2x = 360
12x – 30 = 360
12x = 390
x = 32.5° 




[image: ]9.	The mass of a suitcase is 9 kg heavier than a third of its mass. 
	What is the mass of the suitcase? 
	m = 9 +                 m –   = 9                = 9        m = 13.5 kg

[image: ]10.	Three times the height of a tree is 5 m more than half the height of the tree.  
	How high is the tree?
	3h  =  + 5          3h  –    = 5             = 5        	5h = 10      h = 2  m
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